
 

 

Matrices 
June 2004 P2 Q11(a) 

 
Solution: 

(i) It shows the number of events. 

(ii) (a) First we need to define Matrix A and B in the memory.  

To do this press w4 

 and define the matrices A and B as shown below. 

 
Enter no of rows for Matrix A i.e. 2 

 
Enter no. of columns for Matrix A i.e. 4 

 
Now type in the values of corresponding elements according to question 



 

 

 

Once we have defined Matrix A, we will define Matrix B by pressing T Key and selecting menu 1 i.e. Define 

Matrix. 

  
After defining the matrices, press AC key, then press T3OT4= 

  
 

(b) It shows total points earned by each school. i.e. 44 by school C and 46 by school D. 

(iii) Yes it would, and the result will be (
55
55

)which will be a tie between the two. 

June 2006 P2 Q11(a) 

 
Solution: 
First we need to define Matrix A and C in the memory. To do this press w4 
 and define the matrices A and C as shown below. 

 
Enter no of rows for Matrix A i.e. 2 

 
Enter no. of columns for Matrix C i.e. 2 

 
Now type in the values of corresponding elements according to question 

 



 

 

Once we have defined Matrix A, we will define Matrix C by pressing T Key and selecting menu 1 i.e. Define 

Matrix. 

 

(i) 4C – 2A 

Once we have defined the matrices A and C. It is very easy to perform the indicated operation in 

question. After defining matrices and then press C  

Now type 4 thenT5p2T3 
The syntax should be as follows 

 
Now press = 
The desired answer is on the screen 

 
 

(ii) Find p if B=A-1 

First of all we need to find inverse of A. 

To find the inverse press CT3u= The systax and the answer should be as follows. 

  
Note: Navigate with the help of arrow direction (arrow) keys to show decimal in equivalent fraction 

forms. 

It can be clearly seen by comparing B and A-1 that  𝑝 =
1

7
 

(iii) Finding X if AX=C 

AX = C 

 X = A-1C 

Since we have already found A-1 that answer is to be multiplied by C. 

To do this go to matrix menu and type T3u= The systax and the answer should be as 

follows. 

  
Note: Navigate with the help of arrow direction (arrow) keys to show decimal in equivalent fraction 

forms. 

 



 

 

June 2007 P2 Q11(c) 

 
Solution: 
First we define Matrix M (let it be A). 

To do this press w4 and define the matrix A. write the number of rows and column as done in previous 

questions. 

  
(i) Determinant of M 

Type the following syntax TR2T3)= 

  
(ii) Inverse of M 

Type the following syntax T3u= 

  
(iii) Finding X if MX is given. 

Since MX = (
4

−2
) 

=> X = M-1× (
4

−2
) 

Define (
4

−2
) as Matrix B in the calculator. 

To do this, pressing T Key and select menu 1 i.e. Define Matrix and let it be B. 

 
Once we have done defining matrix B, we can obtain the answer by multiplying A-1 by B. 

To do this press T3uOT4= 

  
so final answer is 𝑥 =  (

11
5

) 



 

 

June 2008 P2 Q5 (c) 

 
Solution: 

(i) Suppose the two matrices are A and B respectively, 

First we need to define Matrix A and B in the memory.  

To do this press w4 

 and define the matrices A and B as shown below. 

 
Enter no of rows for Matrix A i.e. 1 

 
Enter no. of columns for Matrix A i.e. 3 

 
Now type in the values of corresponding elements according to question 

 

Once we have defined Matrix A, we will define Matrix B by pressing T Key and selecting menu 1 i.e. Define 

Matrix. 



 

 

   
we must enter the values of mixed fraction in improper fraction form. 

After defining the matrices, press AC key, then press T3OT4= 

  
(ii) Total distance for the whole journey as speed × time = distance travelled. 

(iii) Average speed = 
𝑡𝑜𝑡𝑎𝑙 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 

𝑡𝑜𝑡𝑎𝑙 𝑡𝑖𝑚𝑒
=

215

1.5+1+2.5 
=

215

5
= 43 𝑘𝑚/ℎ 

November 2009 P2 Q5 

 
Solution: 

(i) Suppose the two matrices are A and B respectively, 

First we need to define Matrix A and B in the memory in the same way that we have been doing in 
previous sums. Once we have defined the matrices, we will enter the following syntax in the 
calculator. 3OT3p2OT4= 
The screen will be as follows. 

  
(ii) Suppose the two matrices are A and B respectively, 

First we need to define Matrix A and B in the memory in the same way that we have been doing in 
previous sums. Once we have defined the matrices, we will enter the following syntax in the 
calculator. T3OT4= 
The screen will be as follows. 

   
(b) First we will define matrix A and then type the following syntax T3u= 

   



 

 

June 2010 P2 Q5 (a), (b) 

 
Solution: 

(a) 
(i) Let the two matrices be A and B, then 𝐹 = 𝐴 × 𝐵. Define the matrices A and B in calculator 

  
 
then type the syntax  T3OT4= 

   
(ii) The amount of money spent on fruits by Bertie during the two weeks 
(iii) $9.30 + $12.35 = $21.65 

(b)  8 (
3 0

−1 2
) + 5𝑀 = 𝑀 

8 (
3 0

−1 2
) =  𝑀 − 5𝑀 

 

8 (
3 0

−1 2
) =  −4𝑀 

−2 (
3 0

−1 2
) =  𝑀 

𝑀 =  (
−6 0
2 −4

) 

 

 

 



 

 

June 2011 P2 Q8 (a) 

8 (a) 𝐴 =  (
4 3

−1 1
)  𝑎𝑛𝑑 𝐵 =   (

5 4
−3 −2

) 

Find  

(i) 2A – B       [2] 

(ii) A-1        [2] 

Solution: 
(i) First we need to define Matrix A and B in the memory in the same way that we have been doing in 

previous sums. 

  
 Once we have defined the matrices, we will enter the following syntax in the calculator. 
2T3pT4= 
 

The screen will be as follows. 

  
(ii) Since we have already defined the matrices, we just need to find inverse of matrix A by the 

following syntax T3u= 

 



 

 

June 2012 P2 Q9 (a), (b) 

 

Define the two matrices be A and B in calculator then type the syntax  T3p2T4= 
 

 

Since we have already defined the matrix A, type the syntax  T3p2T4= 

 

Let the two matrices be A and B, then 𝑃𝑄 = 𝐴 × 𝐵. Define the matrices A and B in calculator then type the 
syntax  T3OT4= 

    
 

 It represents the costs of carpet and overlay for all three 

rooms are 974 and 328 respectively 

 



 

 

November 2013 P2 Q7 

 

Let the two matrices be A and B, define the matrices in calculator then type the syntax  
5T3p4T4= 

    

Let the two matrices be A and B, define the matrices in calculator then type the syntax  T3OT4= 

 

First we will define the matrix A, then to find inverse of matrix A type the following syntax T3u= 

   

B+3I=A 

 B = A – 3I 

Since we have already defined matrix A, we need to enter the syntax as follows 
T3p3OTR42)= 
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